SN BT YMAR
B AR SIS HMEX (MR- ZAIALNHK/SALETSK)

Chel: SRR HEAISERL 22 CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
ZEF YYAMER 75,643 309,919 N234,276

= 9,300
== 66,343
HEAIE T FRS FHFA(&Y - SAISL UMUK/ 43,200 280,600 N237,400
LEX2I)
= 9,300
== 33,900
SAXI2E HEAIE A &2 43,200 280,600 AZ37,400
= 9,300
[ 33,900
SNRAl gds =4 33,900 46,300 A 12,400
201 et=2 3| 19,400 26,800 AT,400
01 AtR2t2|HI 19,400 26,800 AT,400
OEX=A X282 24 4,800
OHLAILAIHER X E & ENRA S8HA 5,600
O=2ULH3| S HLA 2 AL H = 9,000
202 04l 12,000 10,000 2,000
01 =LHNHI 12,000 10,000 2,000
O=U2 JIg FXA=A = 12,000
301 LEtE2 N = 2,500 9,500 AT7,000
08 212+l =2 (4| 2,500 7,000 24,500
OFANRX 25 =20t K& 2,500
Une SXA g=2(=1) 9,300 34,300 A25,000
= 9,300
201 er2 3| 8,000 8,000 0
[ 8,000
03 A= EHI 8,000 8,000 0
O=U2 SXN=IEE2 8,000
= 8,000
202 04| 1,300 26,300 25,000
= 1,300
01 2K 1,300 1,300 0
Ot &= =N 1,300
[ 1,300
SEXQ HLAIY FE(AY - SAILLUU R /MHES 9,600 8,000 1,600
=)
=PRIl 9,600 8,000 1,600
A=E JHEAY =8 9,600 8,000 1,600
202 04l 9,600 8,000 1,600
01 =LHA LI 9,600 8,000 1,600
OtHAXI7 22 & HEI& g2 9,600
HY2IGH(LAAER) (DIEHDIE 22,843 21,319 1,524
Jl=3H 22,843 21,319 1,524
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SN BTEE UMAIR
M HE2HIHI(LAASER)(OIEHIIE)
=9l Jl=3 (el ®9)
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
2A2YE Jl2Zd] 22,843 21,319 1,624
201 Let2| 12,913 12,544 369
01 ArR2eltl 12,913 12,544 369
OFA2F AtR2teld] 12,913
202 04dl 6,930 5,775 1,155
01 =LHO4 b 6,930 5,775 1,155
FA2E LAY 6,930
203 AR F=&lY| 3,000 3,000
M FA2IHRFAL 3,000 3,000
©152! 0I5t 3,000
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